Math 20300
Calculus II1

Lesson 15
Tangent Planes and Linear Approximations

Dr. A. Marchese. The City College of New York

Bookmarks have been added to this video
at the following times:

1. Tangent line to y=1(x) 00:07 p.2
2. Tangent plane to z=f(x,y) 04:.02 p4
3. Equation of the tangent plane 08:29 p.6
4. Equations of the normal line 09:36 p.7
5. Tangent planes to parametric 12:34 p.11

surfaces
6. Increments and differentials

for y=1(x) 1732 pils
7. Increments and differentials

for z=1(x,y) 20:16 p.17

8. Linearization for w=1(x,y,z) 29:14 p.22
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